Tutorial

$$SAT = \{\langle \phi \rangle | \phi \text{ is a Boolean expression in CNF}$$

that has a satisfying assignment $\}$

 $3SAT = \{ \langle \phi \rangle \mid \phi \text{ is a Boolean expression in } 3-CNF$ that has a satisfying assignment }

3CNF = the clauses have exactly 3 literals each. $\Phi' = (\bar{x} \sqrt{\bar{x}} \sqrt{y}) \wedge (\bar{x} \sqrt{\bar{y}} \sqrt{\bar{z}}) \wedge (\bar{x} \sqrt{\bar{x}} \sqrt{\bar{y}}) \wedge (\bar{x} \sqrt{\bar{x}} \sqrt{\bar{y}}) \wedge (\bar{x} \sqrt{\bar{x}} \sqrt{\bar{x}})$

Converting a Booken tormula from CNF to 3CNF form: $(x \vee \bar{y}) \implies (x \vee \bar{y} \vee \bar{y})$ $(x \vee \bar{y} \vee z \vee \bar{w}) \implies (x \vee \bar{y} \vee \bar{A}) \wedge (\bar{A} \vee z \vee \bar{w})$